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Foundations of Math 9

Name: \(5\(

Intercept Supplemental Work — Handout

Slope

For the following equations, identity the slope, the y-intercept, and then graph it.
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For the following questions, use your algebraic manipulation to change the equation to Slope-Intercept Form.

Then ldentify the Slope and the y-intercept. You want: y=mx+b
9. 3x+y=4
Slope: =3
\/ ) ——3)(-5“\ p

y—int: (0 #)
10. 2y = 6x — 8

Slope: 3
he e -H

y—int: (O,-Y4)

11, 5y =-3+7x

; Z
- Slope: /S
Ve hst
y—int: (O~ 3/3—)

12, =3y =—2+4x

-2, _ Slope: "Lf/
\/— /3 ’j%)( p 3

y—int: (o, ?'/3)
Adrian Herlaar, School District 61 www.mrherlaar.weebly.com






